2023 £ 4 A
=] A X K X & +
1
KHECE)
M PM
2 3 4 5 6 7 8
B5H BEH EH EH FIR 18:30%T Fi AM K2 KH CE)
a2 FOR 14 : 30T FE@ AM FOR 16 : 00T (=N FOR 10 : 30T KHE(BE) K2
3] IxE FOR 14 :30%T po::] 8P EED
ke ke 4587 Fit AM RS WE AM
9 10 11 12 13 14 15
BH #*2 5H 5H 5H FOR 18:30FT Fit KHECE)
TR K2 FOR 14 :30%T 7 AM FR 16:00%T [=¥%:N TEED FOR 14:30 T
AH (85) RS IXE FOR 14 : 30%T ozl LLa] ]EF AM % PM
ke Eyeid Eyeid
16 17 18 19 20 21 22
BH 5H 5H 5H R 14:00%T Fi KH CE)
e FOR 14 : 30%T E& AM FHR 16:00%T =K =i XH (5)
3] po:t] FOR 14 : 30%T po:t] P 45EF AM
e 4587 4587
23 24 25 26 27 28 29
=] =) 5[ BH FIR18 : 30%T FHit
TR FOR 14 :30%T E& AM FOR16 : 00FT 2K EEB
FOR 14 : 30%T IxE FOR 14 : 30%T o] Eyeid 158 AM
Eyead Eyeid Eyeid
30
SHikZ

HiE




